DĚLENÍ DESETINNÝCH ČÍSEL ČÍSLEM PŘIROZENÝM
6 8 2, 5 : 5= _ _ _ _                               ZK.:   _ _ _ _

_ _                                                                      .        5
   _ _

      _  _

    zb. _

7 3 6, 5 : 5= _ _ _ _                                ZK.: _ _ _ _
_ _                                                                    .        5
   _ _

      _  _

   zb.  _

9 7 3, 5 : 5= _ _ _ _                                ZK.:  _ _ _ _

_ _                                                                     .        5
   _ _
      _  _

     zb. _

7 6 0, 2 : 3= _ _ _ _                                       ZK.:  _ _ _ _

_ _                                                                            .         3
   _ _
       _  _

    zb. _

4 9 7, 1 : 3= _ _ _ _                                       ZK.:  _ _ _ _

_ _                                                                           .          3
   _ _

      _  _

     zb. _

5 8 4, 4 : 3= _ _ _ _                                       ZK.:  _ _ _ _

_ _                                                                           .         3
   _ _          

      _  _

    zb. _

1 5 2 6, 4 : 6= _ _ _ _                        ZK.: _ _ _ _
   _ _                                                           .         6
      _ _

         _  _
        zb. _
2 5 7 2, 2 : 6= _ _ _ _                         ZK.: _ _ _ _

   _ _                                                             .         6
      _ _

         _  _

       zb. _

2 0 7 1, 8 : 6= _ _ _ _                          ZK.:  _ _ _ _

   _ _                                                             .          6
      _ _

         _  _

        zb._

PROCVIČ SI DĚLENÍ SE ZBYTKEM
    1                                                                2                                                       3

17: 5= ______                                  22: 7= ______                                44: 6= ______
18: 4= ______


   11: 2= ______                                 37: 9= ______

20: 3= ______                                  25: 8= ______                                 34: 5= ______

41: 5= ______


   36: 7= ______                                 15: 6= ______
25: 4= ______                                  19: 2= ______                                 84: 9= ______
28: 3= ______                                  18: 8= ______                                 44: 5= ______
47: 5= ______                                  69: 7= ______                                 26: 6= ______
34: 4= ______                                    7: 2= _______                               75: 9= ______
23: 3= ______                                  33: 8= ______                                 48: 5= ______
49: 5= ______                                  51: 7= ______                                 32: 6= ______
9: 4= _______                                   5: 2= _______                                46: 9= ______
19: 3= ______                                 58: 8= ______                                  38: 5= ______
37: 5= ______                                 15: 2= ______                                  37: 6= ______
26: 4= ______                                 15: 7= ______                                  28: 9= ______
11: 3= ______                                 15: 8= ______                                  21: 5= ______
12: 5= ______                                 17: 2= ______                                  58: 6= ______
30: 4= ______                                 30: 7= ______                                  38: 9= ______
29: 3= ______                                 19: 8= ______                                  23: 5= ______
22: 5= ______                                 19: 2= ______                                 43: 6=_______
15: 4= ______                                 65: 7= ______                                 77: 9= ______
